Unique Auctions Catalogue 16 Jan 2018

- 1 3 smoker's stands and a table lamp £10.00 £15.00
- 2 A shelf of miscellaneous figures including elephants etc £10.00 £20.00
- 3 2 shelves of kitchenware £10.00 £20.00
- 4 A cased Singer sewing machine £10.00 £20.00
- 5 2 painted kitchen chairs £10.00 £15.00
- 6 7 cased video camera's £20.00 £30.00
- 7 A shelf of miscellaneous items including clock £10.00 £20.00
- 8 A boxed Goblin Teasmade and a boxed set of kitchen scales £20.00 £30.00
- 9 A shelf of electric irons etc £10.00 £20.00
- 10 A shelf of miscellaneous including rice bowls and spoons £10.00 £20.00
- A shelf of assorted tools, torches etc £10.00 -£20.00
- 12 A shelf of extension leads etc £10.00 £20.00
- 13 A boxed set of Norman Wisdom videos £10.00 £20.00
- 14 A shelf of assorted glass ware etc £10.00 £20.00
- 15 A shelf of various radio's etc £10.00 £20.00
- 16 3 video recorders, a Canon Starwriter etc £10.00 £20.00
- 17 A shelf of LP records £10.00 £20.00
- 18 4 heaters and a fan £10.00 £20.00
- A mixed lot of figures including cats etc £10.00 -£20.00
- 20 A quantity of spot lights £10.00 £15.00
- 21 A shelf of assorted wooden items, photo frames etc £10.00 £20.00
- 22 A shelf of assorted tea ware £10.00 £20.00
- 23 A shelf of LP records and CD's £10.00 £20.00
- 24 A shelf of assorted copper ware £10.00 £20.00
- 25 A shelf of Royal Doulton April Showers pattern dinner ware £20.00 £30.00
- 26 A shelf of assorted tea ware £10.00 £20.00
- 27 A shelf of Video recorders, record player etc £10.00 £20.00
- 28 A quantity of cushions £10.00 £15.00
- 29 A box Nutribullet blender £10.00 £20.00
- 30 A quantity of old dolls including porcelain £10.00 -£15.00
- 31 A shelf of miscellaneous wooden items £10.00 £20.00
- 32 A shelf of horses including horse and dray £10.00 £20.00
- 33 A shelf of LP records £10.00 £20.00

- 34 A shelf of assorted glass ware £10.00 £20.00
- 2 shelves of video cases with videos and 2 video recorders £10.00 £20.00
- 36 A shelf of assorted tools £10.00 £20.00
- 37 A large quantity of soft toys £10.00 £20.00
- 38 A shelf of miscellaneous music books, brief cases etc £10.00 £20.00
- 39 A shelf of miscellaneous including binoculars, Polaroid camera etc £10.00 £20.00
- 40 A reel to reel tape records, tapes etc £10.00 £20.00
- 41 A tape recorder and other music related items £10.00 £20.00
- 42 A shelf of miscellaneous items including clocks £10.00 £20.00
- 43 A shelf of assorted teapots £10.00 £20.00
- 2 tool boxes and assorted tools etc £20.00 £30.00
- 45 A shelf of aluminium fittings etc £10.00 £20.00
- 46 A quantity of garden pots etc £10.00 £20.00
- 47 A shelf of assorted wooden items £10.00 £20.00
- 48 2 shelves of assorted glass ware £10.00 £20.00
- 49 A large box of assorted tools £20.00 £30.00
- 50 2 foot stools £10.00 £20.00
- 51 2 SPL 10 HQ 10" subwoofers, a/f £10.00 £20.00
- 52 2 shelves of kitchen ware etc £10.00 £20.00
- 53 A quantity of 10 pin bowling gear including balls £20.00 £30.00
- 54 2 vintage teddy bears and a Bugs Bunny £10.00 £20.00
- 55 A dolls cot and dolls £10.00 £20.00
- 56 A shelf of assorted tools £10.00 £20.00
- 57 A shelf of wire for model railways etc £10.00 £20.00
- 58 A shelf of assorted tools £10.00 £20.00
- 3 shelves of assorted kitchen ware £10.00 £20.00
- 60 A shelf of assorted tools £10.00 £20.00
- 61 A box of various clocks £10.00 £20.00
- 62 A modern ceiling light etc £10.00 £20.00
- 63 A work shop cupboard £10.00 £20.00
- 64 A new stainless steel sink top £10.00 £20.00
- 65 A Kenmore microwave oven £10.00 £20.00
- 66 A 3 drawer painted chest £10.00 £20.00
- 67 A double divan bed with headboard £20.00 £30.00
- 68 2 wine tables, a what not and a magazine rack £10.00 £20.00
- 69 A pine 3 door cupboard £20.00 £30.00

1

70	A single divan bed with headboard £10.00 - £20.00	109	An oval dining table £10.00 - £20.00
71	A pine dresser back/wall rack £20.00 - £30.00	110	A quantity of garden tools £10.00 - £20.00
72	A Candy Fridge £20.00 - £30.00	111	A pair of 5 drawer chests £10.00 - £20.00
73	A small chest freezer £20.00 - £30.00	112	A green sofa a/f £10.00 - £20.00
74	A magazine rack/table £10.00 - £20.00	113	A pair of conservatory chairs £10.00 - £20.00
75	A 3 drawer chest £10.00 - £20.00	114	A garden table and 4 chairs £20.00 - £30.00
76	A bedside cabinet, a chair and a small table £10.00 - £20.00	115	A garden strimmer and a hedge trimmer £10.00 - £20.00
77	A white 3 drawer chest £10.00 - £20.00	116	A pine planter £10.00 - £15.00
78	A fridge freezer £20.00 - £30.00	117	A lathe and a large quantity of wood £20.00 -
79	A Lec upright freezer in good condition £20.00 - £30.00	118	£30.00 2 boxed infra red heaters and a fan £10.00 - £20.00
80	An Exercise bike £10.00 - £20.00	119	A teak wall unit £10.00 - £20.00
81	A coffee table £10.00 - £20.00	120	A mixed lot of cutlery £10.00 - £20.00
82	A 1950's wardrobe £10.00 - £20.00	121	A jewellery display case £10.00 - £20.00
83	A mahogany effect wall unit £20.00 - £30.00	122	A retro kitchen cabinet £20.00 - £30.00
84	A very large lot of CD's and a small quantity of	123	A music centre in cabinet £10.00 - £20.00
	DVD's £20.00 - £30.00	124	A ceiling light and a shoe last £10.00 - £15.00
85	A snooker table and accessories £20.00 - £30.00	125	A large quantity of tools etc £20.00 - £30.00
86	A retro kitchen cabinet £20.00 - £30.00	126	An office desk £20.00 - £30.00
87	A Farfisa organ with instructions £10.00 - £20.00	127	A quantity of golf cluns £20.00 - £30.00
88	A 4 drawer filing cabinet and a small metal cabinet £10.00 - £20.00	128	A Vax cleaner £10.00 - £20.00
89	A mahogany effect wardrobe £10.00 - £20.00	129	2 step ladders £10.00 - £20.00
90	A microwave oven £10.00 - £20.00	130	A golf bag complete with clubs £20.00 - £30.00
91	A 2 over 2 chest of drawers £10.00 - £20.00	131	A quantity of golf clubs in bag £20.00 - £30.00
92	A pair of white 3 drawer bedside chests £20.00 -	132	A mixed lot of garden tools etc £10.00 - £20.00
32	£30.00	133	A 2 door cupboard £10.00 - £20.00
93	A large quantity of police magazines £10.00 -	134	A single divan base and mattress £10.00 - £20.00
	£20.00	135	A 5ft pine bedstead £20.00 - £30.00
94	A Sanyo radio/cd player £10.00 - £20.00	136	A Qualcast lawn mower £10.00 - £20.00
95	A small drop leaf kitchen table £10.00 - £15.00	137	A good quality set of Calloway golf club in bag
96	A Hoover vacuum cleaner £10.00 - £20.00	120	£100.00 - £120.00
97	A 2 over 2 chest of drawers £10.00 - £20.00	138	A pair of single divan beds with headboards £20.00 - £30.00
98	A kidney shaped dressing table £10.00 - £20.00	139	A dressing table, bedside chest and stool £20.00 -
99	5 shelves of assorted tools etc £20.00 - £30.00		£30.00
100	A Hostess trolley £10.00 - £20.00	140	A kidney shaped dressing table £10.00 - £20.00
100A	A white Vauxhall Combo 1.7 DI van £250.00 - £350.00	141	A single pine bedstead £20.00 - £30.00
101	A bamboo and glass coffee table £10.00 - £15.00	142	A pink patterned rug £20.00 - £30.00
102	A leather effect three piece suite £20.00 - £30.00	143	A Hotpoint upright freezer £30.00 - £40.00
103	3 chairs, a folding chair and a folding table £10.00 -	144	A Moffat electric cooker £20.00 - £30.00
100	£20.00	145	A quantity of fishing rods, reel etc £10.00 - £20.00
104	A quantity of speakers £10.00 - £20.00	146	A mahogany effect corner cabinet £15.00 - £20.00
105	A pair of bedside chests £10.00 - £20.00	147	A golf bag and clubs £20.00 - £30.00
106	2 conservatory chairs and a table £10.00 - £20.00	148	A box of tools etc £10.00 - £20.00
107	A pink sofa and chair £10.00 - £20.00	149	A double mattress £10.00 - £20.00
108	An oval dining table £10.00 - £20.00	150	A step ladder, ladder etc £10.00 - £20.00

151	A mixed lot of metal ware including copper scuttle,	182	A Smith's mantel clock £10.00 - £20.00
152	brass pots etc, 2 shelves £20.00 - £30.00 A limited edition Don Breckon locomotive print, 2	183	A shelf of glassware including 6 glasses with horse and hound decoration £10.00 - £20.00
102	'shop' watercolours etc £10.00 - £15.00	184	2 brass table lamps £15.00 - £20.00
153	A Frister and Rossman sewing machine £10.00 - £15.00	185	A cased bridge cards set and a boxed Jaques table tennis/ping pong £10.00 - £20.00
154 155	9 assorted suitcases etc £10.00 - £20.00	186	A good shelf of brassware including horse brasses etc £10.00 - £20.00
155	A shelf of tins, silver plate, cased cutlery etc £10.00 - £20.00	187	A shelf of workshop drawers and contents £10.00 -
156	In excess of 300 DVD's £20.00 - £30.00		£20.00
157	A mixed lot of advertising memorabilia including Shell, Bisto, PG Tips, Coca Cola etc £10.00 - £20.00	188	A Snow White and the Seven dwarfs water feature together with a floral table water feature £10.00 - £20.00 $$
158	A box of dress patterns, table linen etc £10.00 - £20.00	189	A shelf of metal goblets, tankards etc £10.00 - £20.00
159	A gallery tray, a pair of 'scuttle' vases, anchor candlestick and trivet £15.00 - £20.00	190	12 lady figurines including Bradex, Hamilton, Compton & Woodhouse etc £10.00 - £20.00
160	A Victorian brass lamp £10.00 - £20.00	191	Approximately 25 books relating to Churches,
161	A mixed lot including silver plate, Brownie camera and early bank notes £10.00 - £20.00	192	Church Treasures, Vestments etc £10.00 - £20.00 3 shelves of die cast including Burago etc £30.00 -
162	A mixed lot of Manchester United football programmes and photographs £15.00 - £20.00	193	£40.00 2 framed photo collages of Britney Spears and
163	An oak bureau book case £20.00 - £30.00		Gareth Gates £10.00 - £20.00
164	A large West German pottery jug £10.00 - £20.00	194	A metal wall hanging of a motor scooter £15.00 - £20.00
165	A retro kitchen cabinet £20.00 - £30.00	195	An oak buffet sideboard £20.00 - £30.00
166	A Smith's mantel clock £10.00 - £20.00	196	A long copper hunting horn £10.00 - £20.00
167	3 vintage vases including Ellgreave and Brentleigh ware £10.00 - £20.00	197	A Kodak Brownie Minec 1 in box, a Kodak Brownie 127 and 3 clocks £10.00 - £20.00
168	A mixed lot of glassware including a pair of green and gold brandy goblets £10.00 - £20.00	198	2 oil on canvas still life studies by J Coupere and
169	A mixed lot including Egyptian cat, Buddha, figures and Chinese writing items £10.00 - £20.00	199	Susanne Granger, 1 a/f £10.00 - £20.00 A lantern style standard lamp £15.00 - £20.00
170	A cased Imperial portable typewriter £10.00 -	200	A bevel edged mirror in gilt frame a/f £10.00 - £20.00
171	£20.00 A pair of Staffordshire style spaniels £10.00 -	201	15 model aircraft including WW2 aircraft £20.00 - £30.00
	£20.00	202	2 stained glass panels £20.00 - £30.00
172	A Caithness glass bowl together with 3 items of crackle glaze glass ware £15.00 - £20.00	203	A box of chess pieces, dominoes etc £10.00 -
173	A mixed lot including trinket pots, dressing table set etc £10.00 - £20.00	204	£20.00 A shelf of miscellaneous including decorated face
174	A collection of match box covers £10.00 - £20.00	_•.	masks, ship in bottle etc £10.00 - £20.00
175	A cased Olivetti portable typewriter £10.00 - £20.00	205	3 onyx ashtrays and an onyx box £10.00 - £20.00
176	A KLM jardiniere £10.00 - £20.00	206	A vintage telephone £10.00 - £20.00
177	7 assorted clocks including Kundo clock under dome £10.00 - £20.00	207	A boxed Spong mincer and a boxed Morphy Richards hair dryer £10.00 - £20.00
178	A 1950's Junghans pottery wall clock, no key £10.00 - £20.00	208	A wooden relief picture of Charlie Chaplin 'Modern Times' £35.00 - £45.00
179	A 1950's Schatz pottery wall clock, no key £10.00 - £20.00	209	A boxed figurine entitled 'New Born' £10.00 - £20.00
180	A large quantity of boxed die cast including EFE, Lledo, Burago etc, 2 shelves £20.00 - £30.00	210	A mineral rock light and a collection of semi precious stones £10.00 - £20.00
181	2 shelves of paper back books £10.00 - £20.00	211	3 shelves of reference books £10.00 - £20.00

2	12	7 items of china including blue & white jug, vases,		Paintings' edited by T Leman Hare and with
2.	10	figures etc £10.00 - £20.00	238	picture plates, a/f £10.00 - £20.00
2	13	A collection of die cast including Corgi Simon Snorkel fire engine £20.00 - £30.00	230	A mixed lot of vintage kitchen ware including jelly moulds £10.00 - £20.00
2	14	A shelf of studio pottery tankards, jug, teapot etc £10.00 - £20.00	239	A coal scuttle and 3 other items of metal ware £10.00 - £20.00
2	15	A 1930's oak coal box with carved panels £15.00 - £20.00	240	A gilt framed oil on canvas of a village inn/pub, signed but indistinct £20.00 - £30.00
2	16	5 collectable porcelain dolls including Knightsbridge £20.00 - £30.00	241	A boxed Polaroid 600 extreme instant camera with film £15.00 - £20.00
2	17	A Samsung Sync Master SA10 computer monitor £10.00 - £20.00	242	A bottle of Torres Gran Coronas Reserva 1977 Cabernet Sauvignon red wine £10.00 - £20.00
2	18	A Panasonic HDD & DVD recorder with remote control £10.00 - £20.00	243 244	2 figures of Japanese Geisha's £10.00 - £20.00 A mixed lot including paperweights (Caithness,
2	19	39 Beanie babies including Princess, Valentina, Millenium (two spelling mistakes on tag), Mystic	244	Selkirk etc), Disney figure of Pluto and Figaro etc £10.00 - £20.00
22	20	etc £20.00 - £30.00 A quantity of model railway controllers etc £20.00 -	245	10 model collectable shoes including 'Just the right shoe' £10.00 - £20.00
22	21	£30.00 10 volumes 'The Living Countryside', 3 volumes 'The Elite', 3 volumes 'Take Off' and 2 volumes	246	A collection of china including commemorative, crested, Copeland Spode and a Victoria diamond jubilee enamel beaker £10.00 - £20.00
21	22	'History of Railways' £10.00 - £20.00 A Scottish pottery wild fowl and a Trafalgar Navy	247	A mixed lot including commemorative glass ware, vanity box, Scottish standard etc £10.00 - £20.00
		rum decanter £10.00 - £20.00	248	A quantity of history books including ancient
22	23	A vintage glass wine dispenser decorated with grapes £10.00 - £20.00	249	Greece, military etc £10.00 - £20.00 A collection of boxed Airfix, Matchbox, Revel
22	24	A mixed lot of silver plate £15.00 - £20.00	240	model kits both new and vintage £100.00 - £200.00
	25	A mixed lot of china including Spode bowl, Toyal Bonn Toitio vase, tea ware, Silver Jubilee ware etc £20.00 - £30.00	250	A quantity of vintage books including 4 volumes 'The New Illustrated History of England', Yorkshire County Cricket Club 1934', 'A Soldiers Experience or a Voice from the Ranks by one of the Royal
22	26	A collection of 1960's scout ephemera including monthly magazine, training books, posters etc		Fusiliers' 1897 etc £10.00 - £20.00
		£10.00 - £20.00	251	A Napoleon hat mantel clock £10.00 - £20.00
22	27	A quantity of LP and 45 rpm pop records, mostly 1980's £10.00 - £20.00	252	A pair of binoculars, 2 vintage camera's and a pair of opera glasses £10.00 - £20.00
22	28	5 wooden tribal items including figures and bust together with other wooden items £10.00 - £20.00	253	3 vintage photograph albums including wedding album £10.00 - £15.00
22	29	2 cocktail shakers, 9 cocktail glasses and a soda	254	A Silver 2001 sewing machine £10.00 - £20.00
-		syphon £15.00 - £20.00	255	A mixed lot of tea ware
23	30	A suitcase containing costume jewellery, case cutlery, jewellery box etc £20.00 - £30.00	256	4 figures including capo di monte, a/f £10.00 - £20.00
23	31	2 Wade whisky bottles (empty) and a capo di monte style figure a/f £10.00 - £15.00	257	18 boxed Vanguard model vehicles £20.00 - £30.00
23	32	A quantity of LP records £10.00 - £20.00	258	35 pieces of Empire porcelain retro dinnerware £20.00 - £30.00
	33 34	2 collectable dolls £10.00 - £20.00	259	13 model vehicles including tanks, aircraft and
۷,	04	4 decanters, 5 decanter labels and 2 glass tankards £10.00 - £20.00	260	battleships £20.00 - £30.00 A large quantity of costume jewellery £15.00 -
23	35	Approximately 75 model vehicles including Maisto, Sportscar collection, Corgi Superhaulers, Mobil	261	£20.00 A vintage Ensign camera and an Ensign 'Klito'
~	20	Performance and Corgi junior £40.00 - £60.00		£10.00 - £20.00
	36	A quantity of Wedgwood and Coalport china together with a Japanese charger £10.00 - £20.00	262	A quantity of clutch bags and purses £10.00 - £20.00
21	27	An art book entitled 'The World's Greatest		

263 A quantity of military items including shell case,

237 An art book entitled 'The World's Greatest

264	resin helmets, bayonet a/f etc £15.00 - £20.00 A Royal Copenhagen bird and a figurine with a	295	2 Kilbourn Martin suitcases (one with BBC stickers) £10.00 - £20.00
	goose £10.00 - £15.00	296	2 electric heaters, a steam iron and an air compressor £10.00 - £20.00
265	A Scandinavian art glass vase £10.00 - £20.00	297	A mixed lot of ephemera on Lincolnshire history
266 267	A bakelite Veglia mantel clock £10.00 - £20.00 A Mappin & Webb 1.5 pint teapot and jug £10.00 -	201	including Ruston-Hornsby, Cathedral & Diocese, schools, cinema's, coronation etc £10.00 - £20.00
	£20.00	298	A boxed, never used Panasonic SC-HC397
268	28 pieces of Toni Raymond pottery in the form of lilies, 2 shelves £20.00 - £30.00		compact stereo system £20.00 - £30.00
269	A large box of costume jewellery £30.00 - £40.00	299	A wicker trunk containing commemorative mugs £10.00 - £20.00
270	A collection of RAF books, military, western comics etc including Air Britain Impressment Loc index £10.00 - £20.00	300	2 boxes of model railway accessories including buildings, platforms, bridges etc £20.00 - £30.00
271	A vintage Enterprise mincer £10.00 - £20.00	301	5 items of Italian glass ware with cat and mouse
272	A retro picnic set £10.00 - £20.00	202	figures £10.00 - £20.00
273	A William Adams Chinese style jardiniere, Reg. No. 623294 £15.00 - £20.00	302	A dressing table mirror with drawers £20.00 - £30.00
274	An art deco brass and marble mantel clock in	303	10 framed and glazed prints of film posters £10.00 - £20.00
	working order £20.00 - £30.00	304	3 table lamps with shades £10.00 - £20.00
275 276	A Naomi Waldman Haitat vase £10.00 - £20.00 A mantel clock £10.00 - £20.00	305	A cased set of fish knives and forks with other cutlery £10.00 - £20.00
277	A French art deco marble clock garniture, (spring	306	An oak side table/plant stand £10.00 - £20.00
	ok but nearly wound to the limit, balance wheel ok but clock would benefit from a service) £40.00 -	307	A Smith's Westminster chimes clock with key £10.00 - £20.00
070	£60.00	308	2 albums of old postcards £30.00 - £40.00
278	6 Royal Albert old country roses tea cups and saucers, (2nd quality) £20.00 - £30.00	309	A set of ceramic chess pieces £10.00 - £20.00
279	A pair of brass 'The Liverpool' binoculars and one	310	A bamboo and glass coffee table £10.00 - £20.00
280	other £10.00 - £20.00 A vintage Marvel squeeze box £20.00 - £30.00	311	A Land Rover jacket and a Toggi Kiwi jacket £30.00 - £40.00
281	3 brass car horns, a/f £10.00 - £20.00	312	A quantity of playing cards £10.00 - £20.00
282	A mixed lot of china including cups, saucers, plates etc £10.00 - £20.00	313	A quantity of reproduction WW2 posters, photographs of airplanes etc £10.00 - £20.00
283	A mixed lot of tobacco and brewery related tins,	314	A family Bible a/f and a quantity of postcards £10.00 - £20.00
	beer mats etc £10.00 - £20.00	315	3 walking sticks £10.00 - £20.00
284	4 assorted photo frames £10.00 - £15.00	316	A mixed lot of silver plate including fruit dish, jugs,
285	A large carved wood dolphin group £15.00 - £20.00	310	bowls etc £10.00 - £20.00
286	A vintage German Mickey Mouse alarm clock £20.00 - £30.00	317	A treacle glaze bottle, a Victorian jug and a cameo glass jug £10.00 - £20.00
287	12 pieces of Stuart glass ware £10.00 - £20.00	318	A mixed lot of postcards including giant photo
288	A pair of brass wall lights with glass shades £10.00 - £20.00		card £10.00 - £20.00
289	A mixed lot of glass ware including jugs, bowls,	319	A cased model of HMS Bounty £10.00 - £20.00
	vases etc £10.00 - £20.00	320	A painted side table £10.00 - £20.00
290	A mixed lot including 2 clocks, old tins, badges	321	A mixed lot of craft items £10.00 - £20.00
	etc £10.00 - £20.00	322	2 lacquered jewellery boxes, a/f £10.00 - £20.00
291	A box of 78 rpm records £10.00 - £20.00	323	3 art glass bowls £15.00 - £20.00
292	3 boxes of classical LP records £10.00 - £20.00	324	A triple brass and mirrored fire screen decorated with flowers £10.00 - £20.00
293	A box of books on Royalty £10.00 - £20.00	325	A box of LP records £10.00 - £20.00
294	A box of books including Monarchy, Royal Family, coins etc £10.00 - £20.00	326	Approximately 120 12" LP records £10.00 - £20.00
	22 3.0 2.0.00	020	

327	A large quantity of photographic and cine	356	A Webley gun cleaning kit £25.00 - £35.00
	equipment including projectors, editor, viewer, lenses etc £20.00 - £30.00	357	A mahogany box of costume jewellery £10.00 - £20.00
328	A mixed lot of good costume jewellery £15.00 - £20.00	358	A mixed lot of coins including UK, foreign, proof sets, commemorative etc and a WR £50 gold
329	A mixed lot of UK and foreign coins £10.00 -		bank note £10.00 - £20.00
330	£20.00 A mixed lot of cigarette lighters £10.00 - £20.00	359	3 bags of assorted costume jewellery £10.00 - £20.00
331	A collection of corkscrews and bottle openers etc £10.00 - £20.00	360	A jewellery box with jewellery and another box of costume jewellery £10.00 - £20.00
332	A jewellery box with key containing 5 miniature cloissonne vases £10.00 - £20.00	361	A box of yellow metal costume jewellery £10.00 - £20.00
333	A mixed lot of collector's spoons, napkin rings, sugar tongs etc £10.00 - £20.00	362	A mixed lot of UK stamps £20.00 - £30.00
334	4 cigarette lighters including Ronson £10.00 -	363	A revived let in a led in a Courier a group let in a set let in a led in a
	£20.00	364	A mixed lot including Swiss army knife, mother of pearl opera glasses, London make compass etc £10.00 - £20.00
335	A Slazenger watch (strap a/f) and a Tag Heuer watch £15.00 - £20.00	365	A mixed lot of costume jewellery etc £10.00 -
336	3 cigarette lighters including Ronson, a hip flask and a silver bracelet £10.00 - £20.00		£20.00
337	A metal money bank in the form of a sailor £10.00 -	366 367	A mixed lot of costume jewellery £10.00 - £20.00
00.	£20.00	307	A mixed lot including inkwell (a/f), Shell and Mex petrol caps etc £15.00 - £20.00
338	A Dr Nelston improved inhaler £10.00 - £20.00	368	A jewellery box with contents and another box of
339	An aneroid barometer £10.00 - £20.00		costume jewellery £10.00 - £20.00
340	A die cast Lesney traction engine £10.00 - £20.00	369	A mixed lot including pen knives, buttons, walking stick handle etc £10.00 - £20.00
341	5 boxed ceramic pill boxes including Royal Worcester, Portmerion and Goss £20.00 - £30.00	370	A mixed lot of tobacco related items including
342	A tin of mixed UK coins £10.00 - £20.00		cigarette cases, ashtray etc £1.00 - £20.00
343	A boxed 'Great Railways' pocket watch £20.00 - £30.00	371	A quantity of glass slides/negative, lenses etc £10.00 - £20.00
344	A boxed 'Great Railways' pocket watch £20.00 -		A mixed lot of interesting jewellery £20.00 - £30.00
	£30.00	373	2 boxes of costume jewellery £10.00 - £20.00
345	A mixed lot of perfume and scent bottles £15.00 -	374	A mixed lot of costume jewellery £10.00 - £20.00
0.40	£20.00	375	2 boxes of costume jewellery £10.00 - £20.00
346	A quantity of animal figures £10.00 - £20.00	376	2 boxes of soft toys £10.00 - £20.00
347	A heart shaped crystal, a large crystal and a crystal birthstone bear for November £10.00 - £20.00	377	A suitcase of toys including dolls, Fisher Price etc £10.00 - £20.00
348	A quantity of vintage light bulbs including mini	378	2 boxes of bus and rail timetables £10.00 - £20.00
0.0	lamp, flashlight etc £10.00 - £20.00	379	A BEA Gliobe trotter suitcase with children's
349	A replica medieval axe £10.00 - £20.00		contents including Rupert annuals, puzzles and games £20.00 - £30.00
350	A mixed lot of costume jewellery £10.00 - £20.00	380	Assorted books including Engineering, Falklands
351	A Goebel wall plaque of owls and 2 other wall bird figures £10.00 - £20.00	381	war etc £10.00 - £20.00 2 boxes of clothing and a box of shoes £10.00 -
352	A tourist ware kukri knife and 2 paper knives £10.00 - £20.00	382	£20.00 A brass oil lamp complete with chimney and
353	A mixed lot of costume jewellery £10.00 - £20.00	302	shade with fox hunting transfer £20.00 - £30.00
354	2 boxes of near mint unboxed die cast including Matchbox, Corgi, Hot Wheels, Budgie etc £20.00 - £30.00	383	6 porcelain figures including Royal Doulton, Wedgwood, Leonardo etc together with a plastic figure £10.00 - £20.00
355	2 RSPB Franklin mint bird figures, (1 a/f) and a capo di monte style tramp figure £10.00 - £20.00	384	An oak 3 drawer chest £15.00 - £20.00
		385	10 framed and glazed prints of film posters £10.00 -

	£20.00	418	A mahogany bedroom chair £10.00 - £20.00
386	A quantity of mobile phones £10.00 - £20.00	419	A quantity of military memorabilia including maps,
387	24 collectable modern dolls including Ashton Drake, Danbury Mint, Leonardo etc (Boxed, all boxes under table) £10.00 - £20.00		programme for trooping the colour and presentation of standards to the Household Cavalry etc £10.00 - £20.00
388	A quantity of 45rpm and LP records including Beatles, Rolling Stones etc £10.00 - £20.00	420	Volumes 1 - 9 of 'The Horse, its Treatment in Health and Disease' £10.00 - £20.00
389	7 glass paperweights £10.00 - £20.00	421	A mixed lot of china and pottery including glug
390	A pine bedside chest £10.00 - £20.00	400	jugs, art pottery etc £10.00 - £20.00
391	A mixed lot of cigarette cards including Wills, John Player, Gallagher etc £10.00 - £20.00	422	A flight case and a Silver Crest Karaoke set £10.00 - £20.00
392	A collection of Coca Cola bottles £10.00 - £20.00	423	A quantity of mostly LP records £10.00 - £20.00
393	A bedroom chair with tapestry style upholstery £15.00 - £20.00	424	A quantity of pictures and a pine tray £10.00 - £20.00
394	2 boxes of modern postcards, 2 Bibby's annuals and a quantity of decoupage items £10.00 - £20.00	425	A mixed lot of clown dolls, teddy bear etc £10.00 - £20.00
395	A mixed lot of tools and accessories £10.00 -	426	A box of 45 rpm and LP records £10.00 - £20.00
	£20.00	427	A first aid tin £10.00 - £20.00
396	A Sharp microwave oven £10.00 - £20.00	428	A Ferguson Studio 7 record player £10.00 - £20.00
397	A Sharp Carousel microwave oven £20.00 - £30.00	429	A brass magazine rack, a plaque and a Spear and Jackson saw £10.00 - £20.00
398	A dining table and 4 chairs £20.00 - £30.00	430	2 silver plate trays and 3 silver plate posy vases
399	A quantity of drill bits,. door locks etc £10.00 - £20.00		£10.00 - £20.00
400	A retro drop leaf table with chequered top, a chair, a stool and a small table £10.00 - £20.00	431	A pair of red faux leather dining chairs £20.00 - £30.00
401	3 large fishing reels £20.00 - £30.00	432	7 walking sticks £10.00 - £20.00
402	A box of Star Wars, Star Trek and early James	433	A shell and linen table feature £10.00 - £20.00
	Bond paperbacks £10.00 - £20.00	434	4 brass table lamps £20.00 - £30.00
403	Approximately 120 78 rpm records including one sided £10.00 - £20.00	435 436	A mahogany inlaid mantel clock £10.00 - £20.00 A quantity of Shelley dinner ware including platter,
404	2 boxes/ chests of tools £20.00 - £30.00		tureen etc and Shelley teaware items £10.00 - £20.00
405	A leather topped stool £10.00 - £20.00	437	A quantity of evening bags, purses etc £10.00 -
406	7 framed and glazed Cecil prints of dogs and steeplechase £20.00 - £30.00		£20.00
407	A wooden plant stand/torchere £15.00 - £20.00	438	An upholstered stool £10.00 - £20.00
408	A Wallis Gimson 1886 Victoria silver jubilee plate £10.00 - £20.00	439	A quantity of unboxed die cast and tin plate fire engines including Dinky £10.00 - £20.00
409	A large quantity of boxed die cast including Lledo,	440	A cased banjo & mandolin a/f £10.00 - £20.00
	Matchbox, Corgi etc £20.00 - £30.00	441	A mixed lot of china including art deco, Czech tea ware, Meakin cheese dome, Vienna cup and
410 411	A Lloyd Loom nursing chair £10.00 - £20.00		saucer etc £10.00 - £20.00
	A quantity of football programmes and footballer autograph books £15.00 - £20.00	442 443	A torchere / plant stand £10.00 - £20.00 A pair of Regent binoculars 16 x 50 and a Ricoh
412	A pair of heavy brass candlesticks £10.00 - £20.00		KR-10 SLR camera, both with cases £20.00 -
413	A wall mounting display cabinet £15.00 - £20.00		£30.00
414	A mixed lot of die cast including Corgi £10.00 - £20.00	444	25 pieces of blue and white including tureen, gravy boat, dish etc £10.00 - £20.00
415	An oak nest of tables £20.00 - £30.00	445	A circa 1950's Pedigree teddy bear £10.00 - £20.00
416	10 framed and glazed prints of film posters £15.00 -	446	A Windsor chair £10.00 - £20.00
417	£20.00 13 china ornaments including Royal Albert,	447	7 items of silver plate / metal ware including cigarette box, tureen etc £10.00 - £20.00
	Aynsley, Arthur Wood etc £10.00 - £20.00	448	A mixed lot of postcards £10.00 - £20.00

- 449 A quantity of vintage novels (3 shelves) £10.00 -£20.00 478 450 4 boxes of 'The Journal of Bone and Joint Surgery' from 1970's to 2000's £20.00 - £30.00 479 451 A large collection of DVD's in 2 boxes including many James Bond £10.00 - £20.00 480 452 2 boxes of R.A.F and aeronautical ephemera, 481 books etc £10.00 - £20.00 A metal box containing spanners and a box of 453 482 tools etc £10.00 - £20.00 454 A box of history books £10.00 - £20.00 483 3 wooden figures, a wooden box and a Virgin Mary holy water font on wooden panel £10.00 - £20.00 484 456 A good quality nest of 3 tables £20.00 - £30.00 A quantity of Portmerion botanic garden pattern 485 457 pottery etc £20.00 - £30.00 486 458 A cotton reel stand with 3 ivory thimbles and an 487 art deco style vanity stand (incomplete) £10.00 -488 £20.00 489 459 A circular table supported by cherubs £40.00 -£60.00 490 460 A Ferrari car telepone and a Maybell Spotlight telephone £10.00 - £20.00 491 461 A cased Halina Super Eight camera, a pair of Praktika sport binoculars, goggles etc £10.00 -492 £20.00 In excess of 40 Onyx Indy racing model cars, 462 493 some boxes a/f £20.00 - £30.00 494 A Smith's mantel clock and one other £10.00 -463 £20.00 495 464 A mirrored jewellery box, crackle glaze vase etc £10.00 - £20.00 496 465 A good quality teak coffee table £20.00 - £30.00 497 466 A mixed lot of needlework items including cottons £10.00 - £20.00 498 467 A large mixed lot of silver plate £10.00 - £20.00 499 468 A camera telescope viewer, 30 x 60mm £10.00 -500 £20.00 501 469 A modern relief replica of 1895 plague by A Rivatia £10.00 - £20.00 502 470 A Georgian mahogany tripod table £40.00 - £60.00 503 471 A Booth's Elizabeth pattern dinner service £20.00 -504 £30.00 505 472 An oak 78 rpm record cabinet £40.00 - £60.00 506 473 A nest of 3 tables £15.00 - £20.00 474 3 boxes containing a large quantity of 'The Journal 507 of Bone and Joint surgery' from 1970's to 2000's £20.00 - £30.00 508 475 A large collection of vintage Western books £10.00 - £20.00 A Georgian town house style dolls house £40.00 -509 £60.00 476 An Imperial portable typewriter £10.00 - £20.00
- £10.00 £20.00 A box of 2000AD, Dr Who, other comics and magazines £10.00 - £20.00 4 boxes of empty model railway boxes £20.00 -£30.00 A mixed lot of brass and copper £10.00 - £20.00 A glass topped metal side table and a blue pot stand £10.00 - £20.00 A quantity of books on Cathedrals, Churches etc. £10.00 - £20.00 3 framed and glazed maps including Lincolnshire £20.00 - £30.00 A pair of swan neck reading lamps with glass shades £10.00 - £20.00 A jug and basin set £10.00 - £20.00 A modern uplighter standard lamp £10.00 - £20.00 A pair of ceramic table lamps £10.00 - £20.00 A bench grinder and a small lathe £20.00 - £30.00 A copperised fire screen £10.00 - £15.00 A Pendelfin stand, 4 rabbits and a dog £10.00 -£20.00 5 small workshop vices and a clamp £10.00 -£20.00 A Victorian blue and white meat platter a/f and one other £10.00 - £20.00 An oak standard lamp with shade £10.00 - £20.00 A mixed lot of postcards, guides, autograph book etc £10.00 - £20.00 A quantity of spanners and other tools £10.00 -£20.00 A Wickes pedestal bench drill £20.00 - £30.00 An French art deco mantel clock surmounted with boy and girl figure (springs ok) £40.00 - £60.00 6 bird prints, one missing glass £10.00 - £20.00 A jardiniere on stand and a planter £10.00 - £20.00 A Minolta camera a/f, lens etc £10.00 - £20.00 A dressing table stool and a linen bin £10.00 -A quantity of magnifying glasses £10.00 - £20.00 A pine television stand £15.00 - £20.00 An oak coffee table £10.00 - £20.00 A corner table and a stool £10.00 - £20.00 A box of British rail leaflets, timetables, ephemera etc £10.00 - £20.00 A 3 drawer chest on legs £20.00 - £30.00 A Panasonic Viera television on stand £40.00 -£60.00

A pine dresser base £20.00 - £30.00

BidMaster Office

A box of mainly romantic fiction paperback books

477

510

8

511	A French art deco mantel clock £30.00 - £40.00		£20.00
512	A small bureau £20.00 - £30.00	550	An oil on canvas still life signed J Clench £10.00 -
513	A standard lamp with shade £10.00 - £20.00		£20.00
514	A teak side table £10.00 - £15.00	551	One volume 'The Graffic', Jan-June 1899 £10.00 - £20.00
515	A mixed lot of tools etc £10.00 - £20.00	552	A fold over tea table £20.00 - £30.00
516	A rustic pine sideboard £30.00 - £40.00	553	A pink wicker ottoman £10.00 - £20.00
517	A pine dresser back £10.00 - £20.00	554	A decoupage picture of a lady £10.00 - £20.00
518	A china cabinet £10.00 - £20.00	555	A framed and glazed watercolour church scene
519	A Pine book case £20.00 - £30.00	000	£10.00 - £20.00
520	A large quantity of model railway items including carriages, track, buildings etc £80.00 - £120.00	556	A French marble clock garniture £30.00 - £40.00
521	2 stools £10.00 - £20.00	557	A mahogany bureau £20.00 - £30.00
522	A wicker ottoman £10.00 - £20.00	558	A modern clock barometer £10.00 - £20.00
523	2 vases and a large bowl £10.00 - £20.00	559	A mirrored door wardrobe £20.00 - £30.00
524	A 1930's display cabinet £10.00 - £20.00	560	4 framed and glazed aircraft prints £20.00 - £30.00
525	An Olympia portable typewriter £10.00 - £20.00	561	A stained pine dresser £30.00 - £40.00
526	A standard lamp with shade £10.00 - £20.00	562	3 elephants, a figure and a vase £10.00 - £15.00
527	A pine monks bench / book case £40.00 - £60.00	563	A Grundig flat screen television £20.00 - £30.00
528	A vintage mammoth toy £10.00 - £20.00	564	A small cabinet £10.00 - £20.00
529	A pair of pine bedside cabinets £20.00 - £30.00	565	A spotlight standard lamp £10.00 - £20.00
530	A 2 over 2 chest of drawers £15.00 - £20.00	566	A JVC television £30.00 - £40.00
531	A bureau £10.00 - £20.00	567	A dressing table £10.00 - £20.00
532	A modern floral design standard lamp £20.00 -	568	An inlaid mirror £10.00 - £20.00
	£30.00	569	An oval mirror and 2 pictures £10.00 - £20.00
533	An early 20th century jug with pewter lid (lid slightly a/f) £20.00 - £30.00	570	A quantity of old newspapers, 1960's - 2000's £10.00 - £20.00
534	A modern glazed book case £20.00 - £30.00	571	A modern sideboard £20.00 - £30.00
535	A Toshiba television £20.00 - £30.00	572	A mixed lot of china including Royal Doulton,
536	A pine book case £20.00 - £30.00	570	Beswick, Casades etc £10.00 - £20.00
537			2 marble clocks C10 00 C20 00
	A mahogany wall clock £30.00 - £40.00	573	2 marble clocks £10.00 - £20.00
538	2 framed and glazed maps including Stratford	573 574 575	2 marble clocks £10.00 - £20.00 A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00
	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00	574	A display cabinet with drawers £15.00 - £20.00
539	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00	574 575	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00
	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00	574 575 576	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00
539	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including	574 575 576 577	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00
539 540	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook	574 575 576 577 578	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00
539 540 541	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00	574 575 576 577 578 579	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00
539 540	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook	574 575 576 577 578 579 580	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00
539 540 541	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00 A bag of lawn bowls and a set of boulles £10.00 -	574 575 576 577 578 579 580 581	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00 A framed and glazed horse print £10.00 - £20.00
539 540 541 542	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00 A bag of lawn bowls and a set of boulles £10.00 - £20.00	574 575 576 577 578 579 580 581 582	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00 A framed and glazed horse print £10.00 - £20.00 A firescreen depicting railways £10.00 - £20.00
539 540 541 542 543	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00 A bag of lawn bowls and a set of boulles £10.00 - £20.00 A pine corner cabinet £30.00 - £50.00	574 575 576 577 578 579 580 581 582 583	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00 A framed and glazed horse print £10.00 - £20.00 A firescreen depicting railways £10.00 - £20.00 A bow front display cabinet £15.00 - £20.00 An oak wall clock £20.00 - £30.00 A framed and glazed 'The Ancient Order of
539 540 541 542 543 544	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00 A bag of lawn bowls and a set of boulles £10.00 - £20.00 A pine corner cabinet £30.00 - £50.00 A Didgeridoo £10.00 - £20.00 A framed and glazed Kylie poster £10.00 - £20.00 A pair of brass ceiling lights and a pair of matching	574 575 576 577 578 579 580 581 582 583 584	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00 A framed and glazed horse print £10.00 - £20.00 A firescreen depicting railways £10.00 - £20.00 A bow front display cabinet £15.00 - £20.00 An oak wall clock £20.00 - £30.00
539 540 541 542 543 544 545 546	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00 A bag of lawn bowls and a set of boulles £10.00 - £20.00 A pine corner cabinet £30.00 - £50.00 A Didgeridoo £10.00 - £20.00 A framed and glazed Kylie poster £10.00 - £20.00 A pair of brass ceiling lights and a pair of matching wall lights £20.00 - £30.00	574 575 576 577 578 579 580 581 582 583 584 585	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00 A framed and glazed horse print £10.00 - £20.00 A firescreen depicting railways £10.00 - £20.00 A bow front display cabinet £15.00 - £20.00 An oak wall clock £20.00 - £30.00 A framed and glazed 'The Ancient Order of Forresters' collage £10.00 - £20.00
539 540 541 542 543 544 545	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00 A bag of lawn bowls and a set of boulles £10.00 - £20.00 A pine corner cabinet £30.00 - £50.00 A Didgeridoo £10.00 - £20.00 A framed and glazed Kylie poster £10.00 - £20.00 A pair of brass ceiling lights and a pair of matching	574 575 576 577 578 579 580 581 582 583 584 585	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00 A framed and glazed horse print £10.00 - £20.00 A firescreen depicting railways £10.00 - £20.00 A bow front display cabinet £15.00 - £20.00 An oak wall clock £20.00 - £30.00 A framed and glazed 'The Ancient Order of Forresters' collage £10.00 - £20.00 A painted stool £10.00 - £15.00
539 540 541 542 543 544 545 546	2 framed and glazed maps including Stratford Upon Avon £10.00 - £20.00 A French marble clock garniture £30.00 - £40.00 A quantity of early 20th century newspapers (original and reproduction) £10.00 - £20.00 A quantity of football memorabilia including Charlton Athletic programmes and scrapbook £10.00 - £20.00 A bag of lawn bowls and a set of boulles £10.00 - £20.00 A pine corner cabinet £30.00 - £50.00 A Didgeridoo £10.00 - £20.00 A framed and glazed Kylie poster £10.00 - £20.00 A pair of brass ceiling lights and a pair of matching wall lights £20.00 - £30.00 A mixed lot of walking sticks and canes £10.00 -	574 575 576 577 578 579 580 581 582 583 584 585	A display cabinet with drawers £15.00 - £20.00 A quantity of metal bowls £10.00 - £20.00 A framed and glazed canal scene £10.00 - £20.00 A mahogany side table £10.00 - £20.00 A 4 drawer dressing table £10.00 - £20.00 A flat screen television £20.00 - £30.00 A gentleman's wardrobe £10.00 - £20.00 A framed and glazed horse print £10.00 - £20.00 A firescreen depicting railways £10.00 - £20.00 A bow front display cabinet £15.00 - £20.00 An oak wall clock £20.00 - £30.00 A framed and glazed 'The Ancient Order of Forresters' collage £10.00 - £20.00 A painted stool £10.00 - £15.00 An oak cupboard on chest £20.00 - £30.00

590	2 inlaid panels and a painted panel £10.00 - £20.00		photograph album etc £10.00 - £20.00
591	A Leonardo figure of a horse £10.00 - £20.00	627	An oval rustic style dining table £20.00 - £30.00
592	A mahogany chiffioniere £30.00 - £50.00	628	An oval coffee table with cupboards £20.00 -
593	A quantity of reference books including Observer £10.00 - £20.00	629	£30.00 A collection of approximately 50 Ruston Hornsby
594	A walnut wardrobe £20.00 - £30.00		1920's + plans for pumps/meters etc £10.00 -
595	3 framed and glazed aircraft prints £15.00 - £20.00	620	£20.00
596	A quantity of framed and unframed pictures £10.00	630 631	An old wooden tool box £20.00 - £30.00 A chrome and black bar stool £10.00 - £20.00
	- £20.00	632	
597	A quantity of walking sticks and canes £10.00 - £20.00	633	A pair of retro kitchen chairs £10.00 - £20.00 A quantity of framed and glazed prints including
598	A bedroom chair £10.00 - £20.00		aircraft £10.00 - £20.00
599	A mahogany glazed top book case £40.00 - £60.00	634	A collection of mid 20th century school ephemera
600	A set of 4 Lincoln related framed and glazed prints £20.00 - £30.00		including Glym Grammar, Dartford County Grammer, Ruskin College, Oxford V Cambridge boat racer etc £10.00 - £20.00
601	A pine 2 over 3 chest of drawers £20.00 - £30.00	635	2 boxes of vintage household linens £20.00 -
602	4 framed and glazed prints of designs for Mulberry		£30.00
	Harbours £10.00 - £20.00	636	A Singer sewing machine £10.00 - £20.00
603	Approximately 35 CD's including Frank Sinatra, Nat King Cole etc £10.00 - £20.00	637	2 boxes of assorted stationary £10.00 - £20.00
604	A mixed lot of books including Lincolnshire related	638	A teak computer desk £10.00 - £20.00
	£10.00 - £20.00	639	7 shelves and a box of mainly aviation, R.A.F related books £20.00 - £30.00
605	A mahogany and walnut pot cupboard £20.00 - £30.00	640	A quantity of lamp shades £10.00 - £20.00
606	A quantity of railway caps and a steam train print £10.00 - £20.00	641	5 shelves of miscellaneous books including encyclopaedia and history books £20.00 - £30.00
607	A nest of 3 tables £10.00 - £20.00	642	A typist's chair £10.00 - £20.00
608	An oak gateleg table and 4 chairs £30.00 - £40.00	643	A Hitachi television £10.00 - £20.00
609	An upholstered storage stool £10.00 - £20.00	644	A 3 drawer bedside and a 2 drawer chest £10.00 -
610	A wing arm chair £10.00 - £20.00		£20.00
611	A 4 drawer bathroom chest £10.00 - £20.00	645	4 shopping trollies £10.00 - £20.00
612	A small chaise longue £20.00 - £30.00	646	A 3 door pine wardrobe £40.00 - £60.00
613	An old Singer sewing machine in cabinet £10.00 -	647	3 suitcases £10.00 - £15.00
	£20.00	648	A 2 door pine wardrobe £40.00 - £60.00
614	A set of 4 ladder back chairs £20.00 - £30.00	649	A limited edition framed and glazed Avro Lancaster print entitled 'Just Jane', 168/500 £20.00
615	An armchair £10.00 - £20.00		- £30.00
616	A pair of wood framed arm chairs £10.00 - £20.00	650	3 table lamps and a loo roll holder £10.00 - £15.00
617	A revolving chair and matching stool £20.00 -	651	A modern wall clock £10.00 - £15.00
	£30.00	652	An oak sideboard £20.00 - £30.00
618	A 2 seat conservatory sofa £10.00 - £20.00	653	A large steam train plaque £10.00 - £20.00
619	An arm chair £10.00 - £20.00		
620	A floral sofa £20.00 - £30.00		
621	A mahogany dining chair £10.00 - £15.00		
622	A quantity of framed and glazed railway prints etc £10.00 - £20.00		
623	A ladder back elbow chair £10.00 - £20.00		
624	A mahogany elbow chair £10.00 - £20.00		
625	A quantity of net curtains etc £10.00 - £20.00		

626

A mixed lot of ephemera including commemorative Illustrated London News, Whitaker's Almanac,